e

4 3 - 1
DRAWING MADE IN THIRD ANGLE PROJECTION :
THIS DRAWING 15 UNPUBLISHED. RELEASED FOR PUBLICATION , 19 . Loc pIsT REYISIONS
© COPYRIGHT 149 BY AMP INCORPORATED. ALL INTERNATIOWNAL RIGHTS RESERVED. Gp OO =3 E ZONE LTR DESCRIPTION OATE APPD

B | REV PER 0U1D-0274-00 22 0eT o JE

#4-40 HEX NUT
< PLC

#4 L OCK WASHER
~ FPLC

#4 FLAT WASHER
SLIDE LATCH 2 PLC

)
[l F
—

. 135

N
g

#4-40 SLIDE LATCH SCREW
2 PLC

Ax.015

AT

)
il

— M
U7

. 490 MAX

-

|
Kiﬂ
I|4
745404

B ¥
- B
. 1,397 o I
1 PARTS PACKAGED UNASSEMELED. N SUPERSEDED BY 745404-1 415 | #4-40 3 7454042
PARTS PACKAGED AS A UNIT KIT. SN i;LEi? 2 7454041
PARTS INDIVIDUALLY BULK PACKAGED & SHIPPED A TYPE PACKAGING PART NO
DO NOT SCALE PRINT. DR -
AS A UNIT PACKAGE. UNLESS SPECIFIED - AMP INCORPORATED
THIS KIT CAN BE USED WITH CABLE CLAMP BODIES THAT DO DIMENSTONS T THEHES CHE - SVl Horrisburg, Pa. 17105
NOT EXTEND BEYOND THE FRONT FLANGE OF THE > PLC DEC & - -
3 PLC DEC + .00% AFPFPD - NAME
CONNECTOR OR ON CONNECTORS WITHOUT CABLE CLAMPS. ANGLES - - |
A MATERT AL APPD - KIT, SLIDE LATCH, SIZE 7, 1 A
SLIDE LATCH: STAINLESS - 9 POSITION, AMPLIMITE ®)
STEEL PRODUCT SPEC
HARDWARE: STEEL PER
ASTM A108 - ]
FINISH APPLICATION SPEC SIZE FSCM NO DRAWING NO
HARDWARE: ZINC PLATED I
PER ASTM BBZ3, TYPE 11, B 1 @ 00779 7454@4
EESSSA?EWP YELLOW WETGHT _ Iscate 4.7 SHEET 1 0OF 1

: REF |
: e 14716 FEV 287 N : o CUSTOMER DRAWING



